Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-VI « EXAMINATION - SUMMER 2013

Subject Code: 362402 Date: 13/05/2013
Subject Name: Industrial Automation

Time: 10:30 am TO 01:00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

Q.1 (a)  Why interface is required? Write its features and explain serial interface
RS 232C.
(b)  Compare synchronous and Asynchronous transmission.
Q.2
(a)  Write and explain types of communication mode used for industrial
control process.
(b)  Write list of synchronization and timing in communication for industrial
control process. Explain any two transmission method.
OR
(b)  What is network topology? Classify them. Explain any two.
Q3

(a)  Explain SCADA systems with example.
(b)  Write working and importance of 1. Application layer, 2. Network layer 3.
Transport layer
OR
Q3 (a)  Explain Adaptive and distributed control system.
(b)  What is Open System Interconnection (OSI) network model and explain it.

Q4
(a)  Draw and explain with necessary diagram industrial automation control for
thermal power plant.
(b)  Why ladder diagram is more popular among other Programming
Languages in PLC. Draw truth table, symbol and ladder diagram of AND,
OR and EX-OR gate..
OR
Q.4 (a)  Why optical isolation is needed in PLC? Which devices can be used for
isolation state with advantages?
(b)  Draw and explain with necessary diagram industrial automation control for
water treatment plant.

Q.5
(a) Compare PLC verses DCS
(b)  Explain DCS with block diagram and write its application.
OR
QS5 (a)  Write a short note on memories used in PLC

(b)  Write a short note on Features of SCADA over to PLC
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